
q

p

<latexit sha1_base64="DEsihdE1fqk1qI+hZQcEuYYhE6M="></latexit>p
0

<latexit sha1_base64="j+mfgFz7BFgZj40xALos+Xy/bNU="></latexit>q
0

<latexit sha1_base64="Sl+6/m12FTSYjNKKgyd7pUdjky0="></latexit>a

<latexit sha1_base64="+rn4tGSG4J9mvc1gDDHwY5z3RRY="></latexit>

b

<latexit sha1_base64="+rn4tGSG4J9mvc1gDDHwY5z3RRY="></latexit>

b

<latexit sha1_base64="HFM5uwZ0ofYmZ8NBEIe/g3JJi74="></latexit>p
max

<latexit sha1_base64="iByN/dAphcpoUl0medQGqroq49M="></latexit>q
max

<latexit sha1_base64="/NUDDWWzk22YZUkOU23k7yXZEnE="></latexit>q
min

<latexit sha1_base64="7GAPL1zqXHrmAiMDNsItMk7ebOE="></latexit>p
min


